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Approach:                                                                                                                                                  Level:
Focus:
Resources:

% responses
   1999 (’95)            

  year 4         

% responses
   1999 (’95)            

  year 4         

% responses
   1999 (’95)    1999 (’95)

  year 4    year 8

 Trend Task Living World Questions, Year 4

Approach:  Independent                                                                                                   Level: Year 4

Focus:  Student knowledge in the areas covered by these multiple choice questions.

Resources:  None

Commentary:
The 1999 and 1995 students performed no differently on questions 1 and 4, but the 1999 students did a little better 
than the 1995 students on questions 2 and 3.

Questions/instructions:

1. The part of your garden 
that has lots of slaters is probably:

a. damp and sunny.  19 (20)

b. dry and sunny.  19 (13)

c. damp and dark. � 47 (48)

d. dry and dark.  15 (19)

2. What do birds have that insects 
never have?

a. wings  17 (19)

b. eyes  2 (2)

c. eggs  6 (7)

d. feathers � 75 (72)

 Trend Task Seed to Pine Tree

One to one                                                                                                             Year 4 and year 8

Account for the growth of a pine tree of immense size and weight from a small seed.

Picture of pine tree, pine tree seed, pine cone.

Questions/instructions:

Show the picture of a pine tree, the pine cone, and the 
pine seed.

Here is a picture of a pine tree.  It started growing 
from a very small seed like this one, many years ago. 
The seed would have come out of a pine cone. The 
seed weighs about 1 gram. The tree probably weighs 
about 3000 kilograms, or 3 tonnes. Something hap-
pened to a little seed like this so it could grow into a 
very big tree like this.  Think about what could have 
happened.

1. Try to explain to me where the tree got all of its 
extra weight from since it started off as a tiny seed.

Prompt: How did a tiny seed 
weighing about 1 gram become a  
tree that weighs about 3 tonnes?  

How did it get so much heavier?

Key elements of explanation:
First, root systems and leaves develop and proceed to 
absorb water, gases and nutrients from air and soil. 
Second, photosynthesis chemically combines these 
into growing mass of the tree.

                  clear, correct explanation 0 (0)     1 (1)

                              partial explanation 6 (8)   14 (20 )

                    identifi es basic source of 
                                     materials only 71 (78) 68 (74 )

                             any other response 23 (14)  17 (5 )

Commentary:
Year 8 students scored only a little higher than year 4 students, and 1999 students scored slightly lower than 1995 
students. Very few students gave full explanations.

3. Milk kept in a refrigerator stays 
fresh longer because the cold tem-
perature

a. makes the water in the milk freeze. 28 (27)

b. slows down the action of
the bacteria. � 33 (26)

c. helps the cream come to the top. 11 (14)

d. slows down the decay of the 
milk container.  28 (33)

4. Which gas must an animal breathe 
to remain alive?

a. carbon dioxide  13 (14)

b. hydrogen  4 (4)

c. nitrogen  7 (5)

d. oxygen � 76 (77)


